4%

10%

|
1206

55

50

100 150

200

250

\

33

100%
8.1%
116 o
80% | [11.4%
41 O
60% — o
172
]
40% —78.4Y 7 - =
‘~ — —-—
]
20% 208
0%
2km 4km 6km 8km 10km 11km
—
—

34




17%

83%

5% F

85%

0 10 20 30 40 50 60 70 80 90 100




28%

10%

|128

|

28

40

60

80 100 120

140

37

350
300
250
200
150
100

50

n=1292

38




20%
22%

11%
18%
n=60
13% 16%
6%
3%
6%
45%
9%
14%
39
17% n=1036
600
500
' 400
300
200
100
47%
n=1437 0
‘ ‘ 6 n=923
3 5
0% 20% 40% 60% 80% 100% 40

n=466




b E)

Pl [2]

W 90 - 100
B a0 - 90
O 0 - 80
O 60 - 70
O] 50 - B0
O 40 - &0
O] 30 - 40
O 20 - 30
B 10- 20
[

41

180
160
140
120
100
80
60
40
20

n=719

42




1200

1000

800 [

600

400

200 |

n=1139

n=1927

43

0%

20%

40% 60% 80% 100%

180

160

140
120
100
80
60

40 |

20

—

SC

44




CO:

ey el OO D
e
LI | L ]
[T I TR ) e es S fa
P e

COEHRH R ka0 Friia ]

45

CO:2

2

CO

2

CO

14

12

10

46




CO2

A
co,
25 40 5 16
4 35 1 14
20 _ — 4
= 130§ 112
=, O
420 48
10 115 2 16
| ] ]
6 10 O L 4
405 42
0 0.0 0 0
o,
| I
! A 600 2003 7 3 |
1
; Cco; 4.2 t-COql .
e * 3.1% l
1
: CO2 134.2 t-CO2/ 2003 1
I
L | 47
CO2
CO2
CO,
== CO2
*
_ 25 12
v <
20 L N 10 —
N
~ ] 8
(@) L N
O 15 _5
> 16 =
a4
=10
1 4
05 [ i
) 2
O
0.0 0
(=1593)
(n=785) (n=1155)
32

48




CO2

CO2

COZHR R e/ i )
2:5=-5
g -2.5
1.5 -2
1.2=1.5
1 1:2
0.4 -1
0.5 - 0.8
0.4 - 0.8
0.2 - 0.4
i 0.7

32

49
CO2
450 Co, 450 CO,
400 | 400
350 350
300 Iy L300 [
5 L )
g 250 [, 8 2,50 N
2200 v 2200 &
150 |~ 150 | .
100 % A 100 | aa XS 4 -~
0.50 A A A A Aa 050 A A \A‘T\‘
0.00 ‘ s ‘ 0.00 ‘ ‘ ‘
0 2000 4000 6000 8000 10000 0 2000 4000 6000 8000 10000
/km2 /km2
co,
450
4.00
350 |
300 ¢ E—
S 250 [
82 @
© A
150 D A‘ ® A
1.00 A
o
0.50 A ° ‘
0.00
0 2000 4000 6000 8000 10000
/km2 32

50




CO2

®
CO, 1.43kg-CO2/
o CO, 744kg-CO2/
260
CO, 634,658t-CO2
2003 HP
5 13 CO,
15
Cco,
| A47.4%
115
51
LRT
LRT
23430 | 98391 | 22558 | 144379
5.2% 21.7% 5.0% 31.8%
, LRT km? 3.9 364 42.1 82.4
/km? 6,014 2,700 536 1,752

= O O__O. 0O o |
[N I
71.8% ) | 17.9% |1o.3%
p 0.49
(L 396w =75 4% |9.6%| 3L5% 3.5%|
Y %MX_
8.7%| 413% | 44.4%
T [ [
0% 20% 40% 60% 80% 100%

= [ = O O O |
| I
/ 75.0% VD
{ \ 17
N 66.9% 1 15.3% [[11.06[[17e
- ~—— 7
2586 | 140% [[o04 260% | 312
L | |
0% 20% 40% 60t 80% 100%

52




t-COz/

LRT

LRT Co,
4157
OLRT 10%]
17% OLRT 30%
3462 3065
\_ 50%
'\ 275619 30%
— s 2138

12000

10000

t-COz/

8000

6000

4000

2000

LRT CO,
10186 OLRT 10%
OLRT 30% ||
11% -
9029
4% 5477
6715 10%
30%
4936 3854

B ERE -

9[.1‘/3,2'33?1-. ,é ®

53






